Tha diagram balow shows the ralativa
posiions of BEarth, the moon, and the sun.
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Which phasa of the moon can be absarvad
from BEarth whan thes bodias ara positionad
in this way?
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The diagram below shows four positions of
a ball rolling down and off a curved ramp.

AL which position is the kinetic energy
of the ball being converted into potential
energy’

A position |
B position 2
C position 3
D position 4

Whan invastigabing a naw cancar-fighting
drug, madical ragzarchars mye soma of
tha subyacts a pill that contains the dog.
Sofna othar subjacts are wvan a pil that
does not contain the dmyg The dmg-fras
pill s2rvas what purposz in the dasien of
this inwastigation ?

A acontol

B anzxperimantal wanabla

C aseparats trial
D aqgualitativs companson

Tha diagram balow shows the undisturbed
laars of rock found 1n an araa and somea
of the fogsils found in aach layar

"

Which dascribes how the anvironmeant in
the arza most hiksly changad ovar ime?

A from desart tolake

B from river wallay to forast

C from oz to dasard

D from grassland to coastal plain



H The diagram below shows the Periodic Table of the Elements.
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Based on its location in the periodic lable, which element in the table is least reactive?

A Li
B F
C Ca
D Kr

The graph below shows the United States population and the total water consumption in the United

ﬂ States from 1950 to 1995,

L'mited States Total Water Use
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Based om the graph, which statement is a fact?

oDARE

People used oo much water between 1970 and 1985,

People have been finding better uses for waler since 1985,
The average number of people who nsed water decreased after 1985,
The average amount of water each person used was fower in 1995 than in 1985,
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Answers:

1. A

2.C

3.A

4.C

5.D

6.D



